

$$= \lim_{t \rightarrow +\infty} \left(\ln \left| \frac{\sqrt{t^2+4} + t}{(t+2)^c} \right| + \ln(2^{c-1}) \right) = \underline{L}$$

⏟

Para esse limite existir temos que deve existir

o limite:

$$\lim_{t \rightarrow +\infty} \frac{\sqrt{t^2+4} + t}{(t+2)} = h > 0$$

$$L = \lim_{t \rightarrow +\infty} \frac{\sqrt{t^2+4} + t}{(t+2)^c} = \lim_{t \rightarrow +\infty} \frac{1}{\cancel{2} \sqrt{t^2+4}} \cdot (\cancel{2t} + 1) = \frac{\infty}{\infty} \cdot \frac{\infty}{\infty}$$

R. L'Hôpital

$$= \lim_{t \rightarrow +\infty} \left(\frac{\frac{t}{\sqrt{t^2(1+\frac{4}{t^2})}} + 1}{c(t+2)^{c-1}} \right) = \lim_{t \rightarrow +\infty} \left(\frac{\frac{1}{\sqrt{1+\frac{4}{t^2}}} + 1}{c \cdot t^2} \right)$$

$$= \frac{2}{\lim_{t \rightarrow +\infty} (c(t+2)^{c-1})} = h$$

$$\lim_{t \rightarrow +\infty} (c(t+2)^{c-1}) = \frac{2}{h}$$

• $c < 1 \Rightarrow \lim_{t \rightarrow +\infty} (t+2)^{c-1} = \lim_{t \rightarrow +\infty} \frac{1}{(t+2)^{1-c}} = 0$

\downarrow
 $1-c > 0$

$$\Rightarrow h = \frac{2}{c \cdot \lim_{t \rightarrow +\infty} (t+2)^{c-1}} = \frac{2}{0} = +\infty$$

- $c = 1 \Rightarrow \lim_{t \rightarrow +\infty} (t+2)^{c-1} = \lim_{t \rightarrow +\infty} (t+2)^0 = \lim_{t \rightarrow +\infty} 1 = 1$

$$\Rightarrow h = \frac{2}{1 \cdot \lim_{t \rightarrow +\infty} 1} = 2$$

- $c > 1 \Rightarrow \lim_{t \rightarrow +\infty} (t+2)^{c-1} = +\infty$
($c-1 > 0$)

$$\Rightarrow h = \frac{2}{c \cdot \lim_{t \rightarrow +\infty} (t+2)^{c-1}} = \frac{2}{\infty} = 0$$

$$I = \lim_{t \rightarrow +\infty} \left(\left| \frac{\sqrt{t^2+4} + t}{t+2} \right| + \ln(2^{c-1}) \right)$$

- $c < 1 \Rightarrow h = +\infty \Rightarrow I$ diverge, pour $\lim_{x \rightarrow \infty} (\ln x) = +\infty$

- $c = 1 \Rightarrow h = 2 \Rightarrow I = \ln 2 + \ln(2^{1-1}) = \ln(2) + \ln 1 = \ln 2$

- $c > 1 \Rightarrow h = 0 \Rightarrow I$ diverge, pour $\lim_{x \rightarrow 0^+} (\ln x) = -\infty$